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conceptual
understanding
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CHAPTERS NUMBER OF 

QUESTIONS

1. RELATIONS AND    

FUCTIONS
15

2. NUMBERS AND

SEQUENCES
15

3. ALGEBRA 20

4. GEOMETRY 15

5. COORDINATE GEOMETRY 15

6. TRIGONOMETRY 15

7. MENSURATION 15

8. STATISTICS AND

PROBABILITY
15
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A C B C C pattern

DON’T DO
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Q.NO OPTION ANSWER

1 a 2𝑚𝑛 − 1

PROGRESS CHECK

THINKING CORNER

DEFINITION

NOTE

QR CODE PRACTICE QUESTIONS
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Understanding formulae
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𝐶. 𝑆. 𝐴 = 2𝜋𝑟 𝑥 ℎ

= 2𝜋𝑟ℎ

𝑇. 𝑆. 𝐴 = 2𝜋𝑟ℎ + 2𝜋𝑟2

= 2𝜋𝑟(ℎ + 𝑟)

12

2𝜋𝑟ℎ



C.S.A = 𝜋𝑟 𝑙
𝜋𝑟

T.S.A = 𝜋𝑟 𝑙 + 𝜋𝑟2

= 𝜋𝑟(𝑙 + 𝑟)
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𝑣𝑜𝑙𝑢𝑚𝑒 =
1

3
𝜋𝑟2ℎ

𝑣𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑠𝑝ℎ𝑒𝑟𝑒 = 2 𝑥
1

3
𝜋𝑟2ℎ

𝑣𝑜𝑙𝑢𝑚𝑒 =
2

3
𝜋𝑟2(2𝑟)

𝑣𝑜𝑙𝑢𝑚𝑒 𝑜𝑓 𝑠𝑝ℎ𝑒𝑟𝑒 =
4

3
𝜋𝑟3

𝒗𝒐𝒍𝒖𝒎𝒆 𝒐𝒇 𝑯𝒆𝒎𝒊𝒔𝒑𝒉𝒆𝒓𝒆 =
𝟐

𝟑
𝝅𝒓𝟑
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WHAT TO FIND?
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𝟒𝟓°

𝟏

𝟏

𝟐 = 𝟏. 𝟒𝟏𝟒

𝟑𝟎°

𝟏 𝟐 𝟔𝟎°

𝟏

𝟐

𝟑 = 𝟏. 𝟕𝟑𝟐

𝟑 = 𝟏. 𝟕𝟑𝟐
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procedural 
fluency
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SIMILAR 

TRIANGLES

• SCALE FACTOR <  1

• SCALE FACTOR > 1

CONSTRUCTION 

OF TRIANGLE

• MEDIAN

• ALTITUDE

• FINDING LENGTH OF 

THE ALTITUDE

• VERTICAL ANGLE 

BISECTOR MEETS THE 

BASE

CONSTRUCTION 

OF TANGENTS

• USING ITS CENTRE

• USING ALTERNATE 

SEGMENT THEOREM

• PAIR OF TANGENTS 

FROM A EXTERNAL 

POINT
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ROUGH DIAGRAM

NAME CORRECTLY

WRITE MEASUREMENTS

DIAMETER OR RADIUS ?

LENGTH OF THE TANGENT
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1 2 1

2 -1 1

2 -1

-1 4

0 2

screen

1st row

2nd  row

M E
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1 2 1

2 -1 1

2

-1

-1

4

0

2

2-2+0
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1 2 1

2 -1 1
2

-1

-1
4

0

2

2-2+0

4+1+0
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1 2 1

2 -1 1

2 -1

-1 4

0 2

2-2+0

4+1+0
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1 2 1

2 -1 1

2

-1

-1

4

0

2

2-2+0

4+1+0
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1 2 1

2 -1 1

2

-1

-1

4

0

2

2-2+0

4+1+0

-1+8+2
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1 2 1

2 -1 1

2

-1
-1

4

0

2
2-2+0

4+1+0

-1+8+2
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1 2 1

2 -1 1

2

-1
-1

4

0

2
2-2+0

4+1+0

-1+8+2

-2-4+2

0

5

9

-4
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1 2 1

2 -1 1

2 -1

-1 4

0 2

2-2+0

4+1+0

-1+8+2

-2-4+2

0

5

9

-4
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𝟓𝒙 + 𝟕𝒚 − 𝟓 = 𝟎

𝟕𝒙 𝟓𝒚 + 𝒌 = 𝟎

𝟑𝒙 − 𝟒𝒚 − 𝟕 = 𝟎

𝟒𝒙 𝟑𝒚 + 𝒌 = 𝟎

FIND THE EQUATION OF A LINE PERPENDICULAR TO THE LINE

−+
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KNOW  Alternate  methods
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𝒚 =
𝟑

𝟐
𝒙 − 𝟔

𝒎 =
−𝟔 − 𝟎

𝟎 − 𝟒

𝒎 =
−𝟔

−𝟒

𝒎 =
𝟑

𝟐

𝒚 = 𝒎𝒙 + 𝒄

𝟐𝒚 = 𝟑𝒙 − 𝟏𝟐

𝟑𝒙 − 𝟐𝒚 − 𝟏𝟐 = 𝟎

(4,0) (0,-6)

(4,0)

(0,-6)
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𝒎 =
−𝟓

𝟒

𝒚 = 𝒎𝒙 + 𝒄

𝟐 =
−𝟓

𝟒
(−𝟏) + 𝒄

𝟖 = 𝟓 + 𝟒𝒄

𝒄 = 𝟑/𝟒

𝒚 = 𝒎𝒙 + 𝒄

𝒚 =
−𝟓

𝟒
𝒙 +

𝟑

𝟒

𝟓𝒙 + 𝟒𝒚 − 𝟑 = 𝟎

𝟒𝒚 = −𝟓𝒙 + 𝟑

𝒚 = 𝒎𝒙 + 𝒄

𝟑 =
𝟒

𝟗
(𝟐) + 𝒄

𝒎 =
−𝟏 − 𝟑

−𝟕 − 𝟐

𝒎 =
𝟒

𝟗

𝟐𝟕 = 𝟖 + 𝟗𝒄

𝒄 =
𝟏𝟗

𝟗

𝒚 = 𝒎𝒙 + 𝒄

𝒚 =
𝟒

𝟗
𝒙 +

𝟏𝟗

𝟗

𝟗𝒚 = 𝟒𝒙 + 𝟏𝟗

𝟒𝒙 − 𝟗𝒚 + 𝟏𝟗 = 𝟎
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Visualizing SKILL
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USE MNEMONIC
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SOH- CAH- TOA

GIVEN – OPPOSITE SIDE

ASKED – HYPOTENUSE
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approximation
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200 m

1

√𝟑

𝟐𝟎𝟎 𝟑𝒎

𝟐𝟎𝟎( 𝟑 + 𝟏)𝒎

𝟐𝟎𝟎(𝟐. 𝟕𝟑𝟐)𝒎

𝟓𝟒𝟔. 𝟒𝒎
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𝟓𝟎

𝟓𝟎

√𝟑

𝟓𝟎

𝟓𝟎 −
𝟓𝟎

√𝟑

𝟓𝟎 −
𝟓𝟎√𝟑

𝟑

𝟐𝟏. 𝟏𝟑 𝒎

𝟓𝟎 −
𝟖𝟔. 𝟔

𝟑

𝟓𝟎 − 𝟐𝟖. 𝟖𝟕
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3 𝑥 3 = 9

6 𝑥 6 = 36

7 𝑥 7 = 49
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deep practice
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Theorem statements

2 MARKS
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relating to 
Real life

siTuations
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Pick 1’s  and  2’s
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Write atleast formulae

Special series 56
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STATISTICS

WRITE FORMULA FOR FINDING MEAN – S.D – C.V

WRITE TABLE 
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COINS  - ATLEAST, ATMOST

DICE  - PRIME NUMBERS

CARDS  - FACE CARDS,NUMBERCARDS

BALL PROBLEMS

LEAP YEAR PROBLEMS

TREE DIAGRAM
PROBABILITY
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RELATING TO 
a STORY
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Constant of variations
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DIRECT VARIATION GRAPHS
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Constant of variations
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INDIRECT VARIATION GRAPHS
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GRAPHS OF VARIATION

DIRECT

INDIRECT

QUADRATIC GRAPHS

NATURE OF SOLUTIONS

SOLVING THROUGH INTERSECTION 
OF LINES
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cross check

67
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4 = 2

28

2
= 14

14

2
= 7

9 = 3



𝒙𝟐 − 𝟗𝒙 + 𝟐𝟎 = 𝟎

𝒙 − 𝟒 𝒙 − 𝟓 = 𝟎

𝒙 = 𝟒 𝒐𝒓 𝒙 = 𝟓
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5

3

1

𝒙𝟐 − 𝟓𝒙 − 𝟔

4

2
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𝒙𝟐 + 𝟐𝒙 −3

6

4

2

5

3

1
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𝒙𝟐 − 𝟒

6

4

2

5

3

1
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WRITE AND CHOOSE APPROPRIATE SCALE

DON’T USE 5 IN SCALE

WRITE SOLUTIONS AND ALSO WITH UNITS

CONCENTRATE MORE ON PROBLEMS  WITHOUT TABLE

VISUALISE THE GRAPH
SCORING KEY :

SCALE          - 1

X & Y AXIS                       - 1 

MINIMUM 5 POINTS        - 3

PLOTTING & DRAWING       - 2

SOLUTION                                - 1
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SCALE

IN X AXIS 1 CM =1 UNIT

IN Y AXIS 1 CM = 1UNIT

X AXIS   FROM -7 TO +7

Y AXIS   FROM -13 TO +13

CO OEFFICIENT 

OF X
X VALUES  FROM TO

0, +ve -3 +3

-ve 0 6

constant 12 -4 +4
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Other resources

76



COMPULSORY QUESTIONS-PUBLIC EXAMS

Old text book

Old text book

CBSE
77



78



79



Time management

80



Presentation

81
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